> | < A
i - v 08 - = Q| 8 _ G'18 _
v 9 G.'8 Q| & G.8 9
- 7 me\, === ————— =—===m A
of ° (A S
«\»/, A AL Lﬂr A
O e
@) < w| T o~
pu— 8 Q 54 D2 2727 L1 Te) —
| — 82 =
O ﬁ o, x| & ' m —
wmv 6'GZ = | o
A4 ! ! o 4L
; vy MmﬁLn
{ ), A \ =2 =
L 1 S5
B olwl1r 626. =13 = 52 52|15 |m
™| © i A~ | =
e == =
2 99 vlz 16 ¥Sl E
AN | N 1“ 4 p—
S < | =
o
—
=~ | g
— <
O —
cRERE
o )
_ _ _ > o |
G'18
= == =
L€l | Gl
! EEEQH 1 A
> 4 N
C @)
(@) | _ _ _ _ _ R <t
(4p) Tp]
AN
e
X
X
y ) B
10
79 N BBBAA J v ||
_ |
8/l Z'6l
|
D ~ M o
0 ) |
%
AN oL N
x x |
|
3 | !
N o0 B
10
- ) R
o Tp)
_ o _ S |
o I
(4]
¥ |
of ~
H VvV VvV v

< > —
/1 2’6l
< . > < . > < . >
¢'v9 < | o < ¢'18 a9
< S = e — = =
Syl 43 SIS 18 G'op |
o o x| x| < = Q <
~ S . o~ NN |& | 2||SLS | 9 o < - Gyl
o K wm «“ 0 €'l -
— — orQ |/>)_\ A a )] _ ~ h A | B WO NN SN N S S S ANANAN R RS
RF | Ri KJ 2C
) - N N B A o) TR |
| { \ m r A - | o |
e D o0 50 l6a™ NSNS\ |
1 I o
Il Q) o9
A s DA I I m%1@|“ﬂ <SEN e
| — (@\| on -—
| " RN . ) < |5 I |
=1 oS D= v - < = S
F | /\ < v u 62 8Ll | o3
| V S A@%y v I | I e e AYANAY
lﬁs\ | & %e I
B — N L ) <Y v ¥ NSRRI Ty
< o S 2ﬂ >wlA NN m ==
<= i< > < S > —
v| o ” » R~ =" = ST 76« | b
e AN
I¢
<
< >i< >
—_— ¢ol 8¢CI I
= =
gL
< ot e
e eel L'
€D XC
St 27 7
Q ¢ X o
vz @ XZ = Gl 22 2%
TR NN NNNN NN NN N A A
m >5 ﬁ | _t_ | 59
! i A
B 0 VN U U U
o | S
™ 1 1 U # o
o : o
C;\ | L S C_\ <
_ v | ot _ >3< -
M.u> | B
al i W | 3
L S5 =m'NNNNNINNNNNNSNY AN NSRS f_% u )
| < ]
6'€QXC 7 S L8l
G99 X¢e |
1 @ XC _
H -[ - T
o H "y






















B-B

G'18
‘5 €61 bl
2'C D XC
2'C D XC
~ Q\
V' D X2 = s 2'C N
A V % I | « I
LO I} 5>
_.3. | NS “ U x ,
S QN
2 9
L LO
o F % .
O ~ s O] ¢
Vv !
. i
— LO
N A
1/\ /\/
11 ML
eeEdXC | | o /'8l
G'9 @ XC
. @ XC A %/
i v




B 2x Q7

19.5

15.8

— _:23;85:_ [~ 2xXx ) 2.4
- = _ e /2x@3.9
& = = ' R 2
' . sy A
' ™
f @Q - OOX
_____ ANy N Y
\7( j W(
j 6x R 2 -
2X O 4 / l N O,g
: 3
~ N 4x R 1.5
0
B O\ Y \/
~ &
2) i \
R 9 = 8 = _ R 2
B
—
8.75 36.5
< e —
54
< —




— —
¢ 79
— — —
SVl 43
N 2 »
i -
— dv\ /\> | \/A\>
o'
—a-
|
llllllllll o S
|
. ¢S
e
a \
o | .V
X X//
o\ . 20 N
Y <’ Y




/\
¢ C
NOANNNNE
OM 1
o9 N T R T |
_k1u 1
— — — /// -
6l 811
V
N ¢ C €l
) wa A




17.8

19.2

—
O D5
R 2 A /RZ
Yo R |
~ — 1 VR
N ™
R 0.9
O
g o 12
—— 4\\ R 2
R 2
32 ><D
46.5
—
04.5




17.8

19.2

7.5 39
e
4 \
Ne
o
\
\
N 4x R 2 L0
N Ly
o0 | 00 N
- - NG
00
R | |
O | ’
f | | ’
S | |
X | |
N
0 o N
V x

54




2X O 3.9

C-C
2X O 6.5
— 51.8 1.1
F' <
o N
=
N A
2X D 4
/ |
N, N,
g. < Y
2 © 3
V
o /\
. N
V Na = 1) O
11 JoL
22 36.5 8.75
— — —
54
— —




6.0

27.4

19.7

15.4

5.4

25.9

2.2
2.2

2o @

— — — —

22

=

] _J | N |

64
81.5

1.2
0.6




	Z-10 A WYKONAWCZY.pdf
	3D Z-10 A.pdf
	RZUT 1.pdf
	RZUT 2.pdf
	RZUT 3.pdf
	RZUT 4.pdf
	RZUT 5.pdf
	RZUT 6.pdf
	RZUT 7.pdf
	RZUT 8.pdf

